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Arrtibute Grammars and Syntax Directed Translation
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(3+ 4) ∗ (5+ 6)n “hr=”

1 ∗ 2 ∗ 3 ∗ (4+ 5)n “?”
attribute called val.

PRODUCTION SEMANTIC RULE

L → En print(E.val)

E → E1 + T E.val := E1.val + T.val

E → T E.val := T.val

T → T1 ∗ F T.val := T1.val ∗ F.val

T → F T.val := F.val

F → (E) F.val := E.val

F → digit F.val :=digit.lexval

CUO x@ real id, id, id, id |xDWQ |=Q@ =Q xOW |U} wvx}W=L |x} RHDCNQO ’Q} R wLv =@ xOWC}=Oyh} QaD R= xO=iDU= =@ “2
%O} Qw;

PRODUCTION SEMANTIC RULE

D → TL L.in := T.type

T →int T.type :=integer

T →real T.type :=real

L→ L1, id L1.in := L.in; addtype(id.entry, L.in)

L→ id addtype(id.entry, L.in)
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A.s := B.i + C.s “hr=”

A.s := B.i + C.s; D.i := A.i + B.s “?”

A.s := B.s + D.s “G”
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S → L.L | L

L → LB | B

B → 0 | 1
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A → A {a} B | AB {b} | 0
B → B {c} A | BA {d} | 1
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B → B10 {B.val := 2× B1.val}

| B11 {B.val := 2× B1.val + 1}
| 1 {B.val := 1}
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